Couplings - with valve Series 20KA

Connection HEX |HEX1| L L1 L2 D B G Version Part Number
A mm | mm | mm | mm/|mm|mm|mm mm
M5 9 26 | 5 10 blank 20KAAMO5MPX
: G M5 9 26 | 5 10 nickel plated | 20KAAMO5MPN
i G1/8 11 28 | 7 10 blank 20KAAW10MPX
m ) G1/8 11 28 | 7 10 nickel plated | 20KAAW10MPN
Male Thread

M5 9 26 | 5 10 blank 20KAIMO5MPX

] " M5 9 26 | 5 10 nickel plated | 20KAIMO5MPN

b HIEL‘ ,,,,,, G1/8 12 28 | 7 10 blank 20KAIW10MPX

°' | I N G1/8 12 28 | 7 10 nickel plated | 20KAIW10MPN

Female Thread

3 mm 35 | 13 10 blank 20KATFO3MPX

L 3mm 35 | 13 10 nickel plated | 20KATFO3MPN

g —— 4 mm 35 | 13 10 blank 20KATFO4MPX

D, HI ﬂ@‘L <I 4 mm 35 13 10 nickel plated | 20KATFO4MPN

5 mm 34 | 13 10 blank 20KATFO5MPX

Hose Barb 5 mm 34 | 13 10 nickel plated | 20KATFO5MPN

3 x4 mm 9 3 | 7 | 5 |10 M7x0,5 blank 20KAKO04MPX

‘ H; 3x4mm 9 3| 7 | 5 |10 M7x0,5 |nickel plated | 20KAKOO4MPN

. M H&ﬂ . 3x5mm 9 3| 7 |5 |10 M7x05 blank | 20KAKOO5MPX
L ' 3x5mm 9 34 | 7| 5 |10 M7x0,5 |nickel plated | 20KAKOO5MPN

4 x 6 mm 9 3 | 7 | 5 | 10 M 8 x 0,5 blank 20KAKO0BMPX

with Plastic Hose Gonnection 4 x6 mm 9 34 7 5 10 M 8 x 0,5 |nickel plated| 20KAKO0O6MPN
) . } 3 x4 mm 12 | 11 [ 45| 7 |17 | 10| 3 | M7x05 blank 20KAKS04MPX
3x4mm 12 |11 [ 45| 7 |17 | 10 | 8 | M7x0,5 |nickel plated| 20KAKS04MPN

° M 3 x5 mm 12 |11 |45 | 7 [ 17 [ 10| 3 | M7x0,5 blank 20KAKS05MPX
3x5mm 12 11 45 7 17 | 10 3 M7 x0,5 |nickel plated| 20KAKS05MPN

Panel Mount 4 x 6 mm 12 | 11 [ 45| 7 |12 | 10| 3 | M8x0,5 blank 20KAKS06MPX

with Plastic Hose Connection 4x6mm 121145 | 7 | 12| 10| 3 | M8x0,5 |nickel plated| 20KAKSOBMPN
L 3mm 12 | 11 [ 51 | 13 | 17 | 10 | 8 | M7x0,5 blank 20KATS03MPX

‘ S N ‘ 3mm 12 | 11 | 51 | 13 | 17 | 10 | 3 M7 x0,5 |nickel plated| 20KATSO3MPN
° [ [[:[}] 4 mm 12 | 11 [ 51 | 13 | 17 | 10 | 8 | M7x0,5 blank 20KATS04MPX
' 8. | u J 4 mm 12 | 11 | 51| 183 |17 | 10 | 3 | M7x0,5 |nickel plated| 20KATS04MPN
: 6 mm 12 | 12 | 51 | 13 | 17 | 10 | 3 M 10 x 1 blank 20KATS06MPX

Panel Mount with Hose Barb 6 mm 12 |12 |51 |13 |17 | 10| 3 M10x1 |nickel plated| 20KATSOBMPN
4 mm 10 35 10 nickel plated | 20KARPO4MPN

L

HEX
[ -.‘ ] 0

= T

o <
- U

Push-In

T

I

A Please consider our security advices on the pages 12/13 A

Brass/Steel

Low Pressure



